vl

Os T &4 22 A

82

flo

29

D 3V3x2V2=6V6
® V5x3v5=15
®2x/'x2\f 443

@ —3\/§x2\/;x—5\/g:30
® Vi2x \/gx \/gz V5



2. VB(V10+ V2)+ V2(2V5+2)
ol W, a + b 9] & Foteizt.

R Eiatb=

FUIHJ

Zreks] SHH a V10 +b V2 7F ek,



® a*

a
® a%(a-4)

@D a-4

@ a°



4. o2 F Aol AHAFAL W, a+ b o] 7S FotolE (Ha>0)

9x% +ax+ 1, 4x> + 8x+b

Bl ea+b=



5. o= HztE AdE Qe geiet

VA9 o] Fo) AFZL[ Jolx, (-5)2 o g9 AFZe] |




V8 ok A1t =71 918 x 0] 4t % 1 A e 4

dD 3 @ 6 3 7 @ 21 B 42






V3 3 V5 Aol

<
,AE
Hf-
N

olp

3

® V3+0.02

@\/E;\/S
V3
ICE

@ V5-0.01
@ 2



9. o F[ [orel Sold 47k vhulA) Wizt ohE A

O (-4 +2)=x2-[ -8
@ (~x+29)(x+[__)=-2*+4y°
® (a+2)(3a-4)=3a>+[_ Ja-8
@ 2x+1)2=42+[ |[x+1

® (x+y-2)(x+y+2) =22+ |y+y*-4



10. o5 ogle] x+3y & 152 74 of, o] of

2x2 + 10xy + my?

D x+y @ 2x+y

@ x+3y ® 2x + 4y

@ 2x+2y



el
ol

No

Fol xy ol Aot el

Sk

=2y 4 )% - 98 AR

11.

Stofet,

:I]_



10] x2 +bx—12 o|th,

% 4]

%

.

Ul



13.

a>0 ¥4, o F 2

© (Vay=-a
@® /(=) = -a



5.1x4.9 & ZHEsHA Alttstr] fistod o] &5 = &
?

Y, S
r{o

@ (a-b)? =a® - 2ab + b>

@ (a+b)(a-b)=a? - b>

® (x+a)(x+b)=x*+(a+b)x+ab

@ (ax+b)(cx +d) = acx® + (ad + bc)x + bd

® (a+b)? =d%+ 2ab + b?

rek



15. 5x?+(2a-5)x—-14 & Aol (x-2)(5x+b) & ™, 5 a, b
Ol g a+b O Fh& Fotofet,

a%*iaer:i



16. a?2+2ab+b?—a-bE ASFEISHH?

@ (a+b)a+b+1) @ (a-b)a+b-1)
® (a-b)(a-b-2) @ (a+b)(a+b-1)

® (a+b)a+b-2)



17, Th& % Aol Lrehd o, h4 @ 2% gl 4

3+ \/37 2\/§_1’ 1+ ‘/57 ‘/§_23 6—‘/§

D 3+ V3 @ 2v3-1 ® 1+ V2
@ V3-2 G 6- V3



N
o
olo
o
00
]
e
M
X
(U
o
~, 0
m —_
[ 8] 7E
& 5
.
—_ _x_._
S
= o
W
ol ®
LN
]L .
Om 11Drl
W ,_OL
B
N W
o
—_ 1_I.._
N |

18.

@ 2m ® 3m @ 4m ® 5m

@D 1m



@ 3x2-2x-8=(x+A)(Bx+4)

© 4x* +Cx-3=(2x-1)(2x- D)

B

D EE



20.

a-b=1,d>-p =42, a+b 2 F2?

D1 ® 2 3 3 @ 4



